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60 hE"TH 1319
60 FE_TH 13119
60 HE_TH 13119
60 FEZTH 13119
60-1 HhE-TH 6| 1
60-1 TE_TH 6| 1
60-1 HhE_TH 6| 1
60-1 BhE_TH 6| 1
60-1 FE-TH 6| 1
60-1 HEZTH 6| 1
60-1 HRE_TH 6| 1
60-1 HhEZTH 6| 1
60-1 FE_TH 6] 1
60-1 hEZTH 6| 1
60-1 hEZTH 6| 1
60-1 HETTH 6] 1
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60-1 FE_TH 6

60-1 FE_TH

60-1 tmREZTH 6

60-1 HRE-TH 6

60-1 HEZTH 6

60-1 HRE-TH 6

60-1 HE-TH 6

60-1 tEZTH 6

60-1 HRE-TH 6

60-1 HE-TH 6

60-1 HRE-TH 6

60-1 FE_TH 6

60-1 TE_TH 6

60-1 HE=TH 6

60-1 HE-TH 6

61 FRE_ZTH 22

61 TEZTH 22

61 HE-TH 22

61 HE-TH 22

61 HhE-TH 22

61 HRE-TH 22

61-1 HRE-TH 22

61-3 hE_TH 22

61-4 HE=TH 22

61-4 HRE-TH 22

61-5 HEZTH 22
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62-1 HEZTH 21 1
62-2 HEZTH 21| 4
62-3 HEZTH 21| 6
62-4 hEZTH 21| 7
62-5 FEZTH 21| 9
62-6 TEZTH 21011
62-7 hE"TH 21| 2
62-8 TEZTH 211 3
63 HEZTH 2331
63 HEZTH 23127
63-2 HEZTH 23]29
63-3 HhETTH 23|24
63-4 FEZTH 2325
63-9 HEZTH 23128
63-9 ThEZTH 23|28
63-9 hEZTH 2328
63-9 HdRTH 23|28
63-9 ThEZTH 23128
63-10 FREZTH 2326
64 HEZTH 23|20
64 HETTH 23121
64 ThEZTH 23121
64-2 FEZTH 23|23
64-3 FEZTH 23|24
64-4 HhEZTH 23|15
64-5 HmEZTH 23|17
64-7 HREZTH 23|19
W HEZTH 23123
772_ HwEZTH 23|22
| 64-18 | HE=TH 23|15
[ 64-19 | HE-TH 23|16
65 HEZTH 2011
65 FEZTH 20|11
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65-1 hE-TH 20(13 68-1 HEZTH 1837
65-1 HEZTH 20|13 68-2 HEZTH 18|39
65-2 HETH 20| @ 68-3 HEZTH 18|40
65-3 HhE-TH 20| 3 68-5 HEZTH 18|41
65-4 HE-TH 20| 7 68-5 HEZTH 18|41
65-6 HE-TH 20| 9 68-5 hEZTH 18|41
65-6 FRE-TH 20| 9 68-6 HEZTH 18|42
65-6 HEZTH 20| 9 68-6 HmE-TH 18|42
65-8 mE-TH 20| s 68-7 HEZTH 18|32
65-9 HREZTH 20| 5 68-8 HEZTH 1833
65-10 HhE-TH 20| @ 68-9 HEZTH 18|34
66 HEZTH 19| s 68-10 HREZTH 1843
66-1 HE-TH 19| 1 69 FRE-TH 16| 4
66-2 HETTH 19| 2 69 FRE-TH 17| 2
66-3 HEZTH 19| 3 69-2 HRE-TH 17|17
66-4 HRE-TH 19| 4 69-5 HRE-TH 17| 3
66-4 HE-TH 19| 4 69-7 HhE-TH 17| 4
66-6 HRE-TH 19| 7 69-11 HhETH 17| 5
66-7 HE-TH 19|10 69-11 HEZTH 17| s
66-8 HE-TH 1913 69-13 HE-TH 17|16
66-9 HEZTH 19| 9 69-15 HEZTH 17| 7
67 HEZTH 18| 2 69-17 TEZTH 17| 2
67-1 FRE-TH 18|50 69-17 HEZTH 17| 1
67-1 HEZTH 18|50 69-18 HE-TH 17] 8
67-3 HE-TH 18| 3 69-19 HhETH 17| 9
67-3 FE-TH 18| 3 69-20 HRE-TH 17|10
67-3 HEZTH 18| 3 69-21 HEZTH 1711
67-5 HE-TH 18| 4 69-22 HmE-TH 17|11
67-6 HRETTH 18|44 69-23 HmRE-TH 17|12
67-7 FRE-TH 18|45 69-24 . HEZTH 1712
67-8 HEZTH 18|47 69-25 HEZTH 17 (13
67-9 HREZTH 18|48 70 HRE-TH 15|11
67-9 HE-TH 18|48 70 HRE-TH 1511
67-10 HETTH 18|46 70 HEZTH 15[12
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70-2 HREZTH 15| 4 71-8 FEZTH 14111

70-3 FEZTH 15| 1-501 72 HEZTH 16| 2

70-3 FEZTH 15| 1-101 72 HEZTH 16| 6

70-3 FE-TH 15| 1-303 72 hE-TH 0016&EHMS

70-3 FE-TH 15| 1-404 72 HEZTH 0016&HS5

70-3 FEZTH 15| 1-503 re e TH 16] °

- 72 hRE-TH 16|14

70-3 HEZTH 15| 1-304 - RE—TH 1612

70-3 HEZTH 15| 1-202 72-1 HEZTH 16| 1

70-3 FEZTH 15| 1-203 72-3 FEZTH 16| 4

70-3 HEZTH 15| 1-s601 72-3 FEZTH 16| 4

— 72-3 HREZTH 16| 4

70-3 E?%jTE 15| 1-402 23 E—TH 16l 2

70-3 EPEjTE 15| 1-504 —— e — 16| 1

70-3 qﬂ%jTE 15| 1-301 - SE-TH 16l s

70-3 EPEjTE 15| 1-401 7229 — 1612

70-3 EPL%jTE 15| 1-204 739 — 16112

70-3 EP%jTE 15 1-201 72-9 HE-TH 16112

70-3 EP%jTE 15| 1-103 729 SE-TH 16112

70-3 qﬂ%jTE 15| 1-302 73-11 FE-TH 16113

70-3 EP%jTE 15| 1-104 73-13 FE-TH 16117

70-3 EP%jTE 15] 1-602 _W e p— 16117

r0-4 HRE-TH 5] ¢ 72-14 R TH 16|18

70-9 HEZTH 15110 T FE-TH 18 | 26

70-9 FEZTH 15110

70-12 FEZTH 15| 5 73-1 HEZTH 18|26

70-12 tb%fTE 15| 5 —— s — 18126

70-14 EP%jTE 15| 6 — E—TH 1826

70-14 EP}%jTE 151 ¢ 731 FE-TH 18 | 2¢

70-15 RE-TH L2 73-2 HE-TH 18 |24

A PRE-TH 1y ¢ 73-3 R-TH 1823

71-1 EPEjTEJ 14| 1 ) e T8l17

71-5 EF‘%:-TE 14|12 “?_1—2‘— FE-TH 18 |20

71-7 HETTH 14|13 Tﬁ— TE-TH 18121
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73-13 FEZTH 18|21 75 FEZTH 9! 8
73-15 FEZTH 18|31 75-1 HEZTH 9124
73-16 HEZTH 18|30 75-2 HEZTH 9121
73-17 HEZTH 18129 75-2 HEZTH 9|21
74 HEZTH 12122 75-3 hEZTH 9| 4
74 HEZTH 12137 75-3 HEZTH 9] 4
74 HEZTH 12| 5 75-4 HhEZTH 9119
74 HEZTH 12|24 75-5 hEZTH 1010
74 HEZTH 12|24 75-5 HEZTH 10(10
74-1 HEZTH 121 1 75-7 hEZTH 91 8
74-3 FEZTH 12| 2 75-8 HE_TH 9|10
74=5 HEZTH 121 4 75-9 HEZTH 9112
74-8 HEZTH 12| 5 75-10 HEZTH 9114
74-9 FEZTH 12| 8 75-1 3 ThEZTH 9] 9
74-9 FEZTH 12| 6 75-14 HETTH 9111
74-10 HEZTH 121 7 75-15 FEZTH 9|18
74-11 HEZTH 12] 9 75-16 hEZTH 9|17
74-12 HEZTH 12(10 75-17 TEZTH 918
74-12 HEZTH 12|10 75-24 HEZTH 9|15
7T4-14 FEZTH 1221 75-26 FEZTH 9120
74-18 HE=TH 12|25 — — Y
74-19 QJE;jTE 1226 “75—_7 TE-TH 9|26
74-20 EPEiTE 12|28 —— T 10l s
74-21 EP%jTE 12129 T-M_ E—TH 101 s
74-22 rp%:_Ta 12|30 7532 | S — 10120
r4-2s PE-TH 12]33 75-34 PE-TH 1019
74-26 ch%fTa 12|36 7535 | ETH o
74-27 HEZTH 12|37 [ 75-37 | HE-TH 10|14
74-36 TEZTH 9| 3 ﬂ— TRE-TH 10118
74-38 FE-TH 9] 1 \75_4_0 FE-TH 10l 7
74-39 HhE_TH 12 1 W HR-TH 10l 7
74-40 HEZTH 12| 3  75-41 | HEZTH 10| 8
74-47 HhEZTH 12| 8 Tﬁ— e —— 10112
74-59 HhEZTH 12| 2
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75-45 PEZTH 10|18 78-7 HEZTH 23|14
75-58 hREZTH 10|17 78-7 HEZTH 23|14
75-59 hE-TH 10|18 78-7 HhE-TH 23|14
75-60 HhEZTH 10|13 78-7 hEZTH 2314
76 hEZTH 12|20 78-19 HEZTH 23|11
76-2 HE-TH 12|18 79 hEZTH 24|17
76-2 HEZTH 12|18 79 hEZTH 24 |16
76-19 mE-TH 12|19 79 HEZTH 24 |16
76-27 HE-TH 12|12 79 HEZTH 24 (19
76-28 hE-TH 12|13 79 HEZTH 24|23
76-29 hE-TH 12|15 79 HEZTH 24|23
76-30 HE-TH 12|16 79 HEZTH 24| 38
76-31 HE-TH 12|17 79 hEZTH 24| 3
77 MEZTH 18|14 79-2 HREITH 24| 2
7 HEZTH 18|15 79-4 hEZTH 24| 4
77-2 hE-TH 18| 8 79-5 HEZTH 241 6
77-2 HhE_ZTH 18] 8 79-7 HmEZTH 24| 7
77-2 hE"TH 181 8 79-7 hEZTH 24| 7
77-3 HE-TH 18| 9 79-9 hEZTH 24|11
77-4 HmEZTH 18|10 79-9 HRE-TH 24|11
77-5 HEZTH 18|12 79-10 mE-TH 24 |13
77-9 HhE-TH 18| 9 79-10 mREITH 24|13
77-10 hE-TH 18| s 79-12 . FEZTH 24| 15
77-11 HE-TH 18|12 79-16 FEZTH 24120
77-12 HhREZTH 18|11 79-17 hEZTH 24 |21
77-13 E-TH 18| 6 79-20 | R TH 24 |22
78 HhEZTH 23| o 79-24 HhE-TH 24|24
78 mEZTH 23| s 79-28 BhE-TH 24|25
78-1 FEZTH 23] 5 79-30 HE-TH 24| 1
78-1 HEZTH 23] 4 79-30 HEZTH 241 1
78-5 HR-TH 2310 79-43 | HRE-TH 24| 5
78-5 HEZTH 23|10 80 FEZTH 25121
78-6 HmEZTH 23|12 80 HhE-TH 25|18
78-7 HE-TH 23|14 80 HEZTH 25|12
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80 FEZTH 25| 8 81-18 HEZTH 2611
80-1 HEZTH 251 1 81-33 FREZTH 26 8
80-2 HEZTH 25| 38 81-33 hEZTH 26| 8
80-2 HE-TH 25|10 81-33 tEZTH 26| 8
80-2 FREZTH 25| 3 82 HEZTH 27|10
80-3 FEZTH 25| 4 82 HEZTH 2710
80-4 FEZTH 25| 5 82-1 FEZTH 27|19
80-10 FEZTH 25|14 82-2 HEZTH 27| 2
80-11 HEZTH 25115 82-3 HEZTH 27| 3
80-13 FEZTH 25|17 82-3 HEZTH 27| 3
80-13 FEZTH 25|17 82-5 HREZTH 2716
80-15 HEZTH 251 2 82-6 HmEZTH 27110
80-15 FEZTH 25| 2 82-7 FEZTH 27|15
80-18 FEZTH 251 8 82-8 HEZTH 27|13
80-19 HEZTH 251 7 82-9 HEZTH 18138
80-21 HEZTH 25| 9 82-9 HEZTH 18|18
80-21 HhEZTH 25| 9 82-9 HEZTH 18(18
80-42 FEZTH 251 1 82-10 HEZTH 27 (18
81 FEZTH 26| 7 82-11 HEZTH 27|17
81 HEZTH 26|15 82-12 HEZTH 27|11
81-1 HEZTH 26| 1 83 FEZTH 281 4
81-2 HEZTH 26| 2 83 HEZTH 28| 3
81-3 FEZTH 26| 5 83 HEZTH 28] 9
81-4 tE-TH 26| 8 83 HPRE-TH 28] 5
81-6 HEZTH 26| 9 83 FETTH 28| ¢
81-7 FEZTH 26|12 83 FEZTH 28|19
81-8 HEZTH 26|14 83 hEZTH 28|15
81-10 HEZTH 26|16 83 HmEZTH 28|15
81-12 HmE"TH 26|17 83 HBEZTH 28|24
81-13 HEZTH 261|138 83 HEZTH 28120
81-15 FEZTH 26| 4 83-1 FEZTH 28126
81-15 HETTH 26| 4 83-3 HETTH 28| 2
81-16 HEZTH 26|13 83-15 FEZTH 2811
81-17 HEZTH 26| 3 83-19 hREZTH 28|17
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83-24 FE-TH 2821 85-26 HR=TH 53| 7
83-25 HE=TH 28|22 85-27 HR=TH 52| 5
83-28 HEZTH 28|18 85-29 hETTH 30|12
83-44 WREZTH 28|25 - 85-31 | R =TH 3036
83-46 PE-TH 2823 85-31 | HE-TH 3036
84-1 HEZTH 29|14 85-33 FR=TH 55|15
84-3 HRE-TH 29|11 85-34 HRETH 5511
84-4 HE-TH 29| 2 85-36 BR=TH 55| 9
84-4 HEZTH 29| 2 85-38 HR=TH 5413
84-7 FJE-TH . 0029%H3 85-38 HR=ETH 54|13
84-11 HRE-TH 29| 9- 85-39 BR=TH 54|14
84-11 HE-TH 29| 9 85-41 HR=TH 54|10
84-11 HE-TH 29| o 85-42 HR=TH 54| 5
84-11 FbETTH 291 9 85-46 FR=TH 53(10
84-13 FE=TH 29| 85-49 HR=TH 52|10
85 HEZTH 30|21 85-50 HR=TH 5212
85-2 HE-TH 30| s 85-56 HE-TH 30|34
85-3 HE=TH 30| s 85-57 HEZTH 30|38
85-6 HETH 30|11 85-59 BE-TH 30| o
85-7 HETH 30|12 85-65 R TH 30|35
85-7 FEZTH 3012 85-73 HhETH 3019
85-8 HE-TH 30|13 85-77 | HE-TH 30| ¢
85-9 HE-TH 30|14 85-77 HE=TH 30| 6
85-9 HE-TH 30|14 85-78 HEZTH 30| s
85-11 HE-TH 30|15 85-78 BE-TH 30| s
85-11 HE-TH 3015 86-6 BE-TH 30|41
85-11 PRE-TH 3015 86-6 thE=TH 30|41
85-13 HRE-TH 30|21 86-8 WEZTH 3040
85-20 BRE-TH 30|39 87 R TH 30|26
85-21 TR=TH 55|17 87 hE-TH 30|26
85-23 HFR=TH 54|16 87-4 FR=TH 53|16
85-24 HR=TH 54| 7 87-5 HE-TH 3025
85-24 HR=TH 54| 7 87-5 HE-TH 30|26
85-25 HR=ETH 53|14 87-5 HE-TH 30|26
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87-5 hETZTH 30|25

88-18 hE—TH 25| 1t
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1 FR—TH 1] 3
1 FiR—TH 1]14
1 HFR—TH 1]11
1-1 FR—TH 11 1
1-1 FPR—TH 1] 1
1-2 FR—TH 1] 3
1-5 FR—TH 1112
1-6 HR—TH 1113
1-6 HPR—TH 1113
1-8 FR—TH 1148
1-9 hR—TH 1149
1-10 FR—TH 150
1-10 HR—TH 1150
1-11 FR—TH 11 5
1-12 FR—TH 1]51
1-12 FR—TH 1|51
1-12 HR—TH 1151
1-12 HR—TH 1151
1-16 FR—TH 1] 2
1-16 PR—TH 11 2
2 PR—TH 1120
2 PR—TH 1120
2 HR—TH 1022
2 FiR—TH 1|16
2 HR—TH 1130
2 HR—TH 1017
2 HR—TH 1123
2 FR—TH 1]23
2 FR—TH 1]23
2-1 FR—TH 1127
- FiR—TH 1127
- FiR—TH 1128
- FiR—TH 1128
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2-5 HR—TH 1]29 3-21 FR—TH 3|28
2-5 HR—TH 1]29 3-22 HR—TH 329
2-6 HR—TH 1]32 3-22 tR—TH 3|29
2-6 HR—TH 1]32 3-23 tHR—TH 3|39
2-8 R—TH 1]35 3-24 HR—TH 3|32
2-13 R—TH 116 4 tR—TH 3| 5
2-13 fR—TH 116 4=t HR—TH 3| 3
2-13 tR—TH 1] 16 =4 HR—TH 3| 3
2-13 HR—TH 1016 4-7 FR—TH 3| 6
2-21 HR—TH 1134 4-8 FR—TH 30 7
2-24 HR—TH 121 4-8 R—TH 3| 7
2-26 HR—TH 131 4=9 HR—TH 3| 9
2-33 HTR—TH 1141 4-17 FR—TH 2| 5
2-34 FR—TH 1143 4-21 FR—TH 2| 4
2-35 tR—TH 118 4-22 HR—TH 2| 2
2-36 FR—TH 1144 4-23 FR—TH 2] 1
2-36 fR—TH 144 L=24 hR—TH 2|13
3 HR—TH 3|12 4=25 R—TH 2| s
3-1 FR—TH 3(22 4-26 FR—TH 21 7
3-2 HR—TH 3)11 4-28 HR—TH 3|38
3-5 HR—TH 3|13 4-29 HR—TH 2| 8
3-6 R—TH 3|16 4-30 HR—TH 2|10
3-6 HR—TH 3|15 4-37 HR—TH 3|34
3-6 FR—TH 3|16 4-39 FR—TH 2111
3-6 HR—TH 315 4-43 tR—TH 3|10
3-6 HR—TH 315 L4 4 HR—TH 3| 8
3-7 HR—TH 3|17 5 | HR—TH 4]z26
3-7 HR—TH - 3|17 5 fR—TH 4110
3-7 HR—TH 3|17 5 HR—TH 4|10
3-18 dR—TH 3031 5 HR—TH 4123
3-19 HR—TH 330 5 HR—TH 4] 1
3-19 FR—TH 3(30 5 i tR—TH 4| 7
3-20 HR—TH 3|27 5 ' HR—TH 4|27
3-20 HR—TH 3|27 5 ' thiR—TH 4| 7
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5-3 FR—TH 4| 2
5-4 FR—TH 41 3
5-4 FR—TH 41 3
5-4 R—TH 41 3
5-6 FR—TH 41 4
5-6 R—TH 4| 4
5-6 hiR—TH 4| 4
5-8 FR—TH 4| s
5-8 hR—TH 4| 5
5-8 HR—TH 4| 5
5-14 HPR—TH 4| 8
5-15 HFR—TH 41 9
5-15 HR—TH 4| 9
5-15 HhR—TH 4| 9
5-15 HhR—TH 4| 9
5-15 FR—TH 41 9
5-17 HR—TH 411
5-19 FR—TH 4|12
5-20 HR—TH 4113
5-20 FR—TH 413
5-22 PR—TH 4114
5-23 FR—TH 415
- 5-23 HR—TH 4|15 -
5-23 hR—TH 4|15
5-23 HR—TH 4115
5-23 FR—TH 4|15
5-25 HR—TH 4|16
- 5-26 HR—TH 4)17
5-26 hR—TH 4|17
5-26 HR—TH 4|17
5-28 FR—TH 4|18
5-30 FR—TH 4121
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5-30 FR—TH 4i21
5-33 FR—TH 4124
5-34 | HR—TH 425
5-37 HFR—TH 4|28
5-38 HR—TH 4129
5-40 FR—TH 4130
5-42 fR—TH 4131
5-43 FR—TH 4132
5-44 i R—TH 435
S-44 FR—TH 4135
6 hR—TH 5]13
6 FR—TH 5|30
6 FR—TH 5(11
6 FR—TH 5|11
6 FR—TH 5129
6-2 HR—TH 5033
6-3 #FR—TH 5| 2
- b6=4 FR—TH 5| 3
6-4 FR—TH 5| 3
6-6 tR—TH 51 6
6-6 FR—TH 5{ 6
6-8 HR—TH 5| 7
6-10 hR—TH 5| 8
6-11 FR—TH 51 9
6-11 FR—TH 5| 9
6-12 FR—TH 5110
6-12 dR—TH 5110
6-12 TR—TH 5]10
6-15 FR—TH S|te
6-15 FR—TH 5(12
6-17 R—TH S|14
6-17 HR—TH 14
617 | HR—TH L1
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6-17 hR—TH 5(14 7-20 HR—TH 622
6-17 HR—TH 5(14 7-21 hR—TH 6|23
6-18 R—TH 5/[18 7-24 FR—TH 624
6-19 HR—TH 5[19 7-25 FR—TH 6|25
6-20 hR—TH 5(20 7-25 hR—TH 6|25
6-21 FR—TH 5{21 7-25 FR—TH 6|25
6-22 HFR—TH 5(22 7-25 FR—TH 6|25
6-22 HR—TH 522 7-25 FR—TH 6|25
6-23 hR—TH 5|23 7-26 FR—TH 6|26
6-25 HFR—TH 5)24 7-26 FR—TH 626
6-27 HPR—TH 5(25 7-26 HR—TH 6|26
6-28 HR—TH 5126 7-26 HR—TH 6|26
6-29 HR—TH 5(27 7-48 HR—TH 6|15
6-30 HR—TH 5|28 8 FR—TH 71 5
7 tR—TH 619 8 HR—TH 7123
7 PR—TH 6|27 8 HR—TH 7123
7 HR—TH 629 8 HFR—TH 7119
7 hR—TH 6127 8 FR—TH 7018
7 HFR—TH 6|27 8 fiR—TH 7125
7 FR—TH 6| 4 8 FR—TH 70 7
7 HR—TH 6|12 8 PR—TH 70 7
7 HFR—TH 6| 7 8 FiR—TH 7121
7 HFR—TH 6| 5 8 HR—TH 7118
7-3 FR—TH 6| 3 8 FR—TH 7125
7-6 hR—TH 6| 6 8-2 HR—TH 725
7-8 HR—TH 6| s 8-3 HR—TH 7] 2
7-10 R —TH 6| o 8-4 | HR—TH 7] s
7-11 HR—TH 6|10 8-4 | HR—TH 7] 4
7-12 hR—TH 6]11 8-4 | HR—TH 7] 3
7-12 HiR—TH 6|11 8-4 | TR—TH 71 s
7-14 HR—TH 6|13 8-7 | HIR—TH 7| s
7-15 HR—TH 6[17 8-9 | HR—TH 7] s
7-18 HR—TH 6|20 iL hR—TH 21 9
7-19 HR—TH 621 8-12 | HR—TH. 7 (12
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8-15 HmR—TH 7115 12 hR—TH 9| 7
8-16 HmR—TH 7016 12-1 PR—TH 91 1
8-17 HR—TH 7|17 12-3 FR—TH 9 2
8-21 HR—TH 7120 12-3 HR—TH 9| 2
8-21 HR—TH 7120 12-4 FR—TH 9| 3
8-23 HmR—TH 7|10 12-5 HR—TH 945
9 HR—TH 8|12 12-7 R—TH 91 5
9-1 R—TH 8|13 12-7 HR—TH 91 5
9-2 FR—TH 8| @ 12-8 PR—TH 9| 6
9-3 HFR—TH 8| 3 13 HR—TH 10)138
9-4 HPR—TH 8| 4 13 HR—TH 10|12
9-5 HR—TH 8| s 13 FiR—TH 10| 4
9-6 HR—TH 8| 6 13-1 hR—TH 10|14
9-7 HR—TH 8|10 13-2 BR—TH 10| 1
9-7 HR—TH 8|10 13-3 tR—TH 10| 2
9-8 HR—TH 8|11 13-4 HR-TH 10| 3
10 HR—TH 8|17 13-6 HR—TH 10| ¢
10 HiR—TH 8|15 13-6 HR—TH 10| s
10 HR—TH 8|15 13-7 FR—TH 10] 9
10 HR—TH 8|15 13-8 HFR—TH 10|10
11-1 HR—TH 9|46-302 13-8 FR—TH 10]10
11-1 hR—TH 9|46-201 13-9 HR—TH 10|11t
11-1 HR—TH 9|46-201 13-23 HR—TH 1018
11-1 hiR—TH 9l46-203 14 HFR—TH 1Mt
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